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Exercise
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• Calculate the Reference Rate

• Calculate FISIM on loans

• Calculate FISIM on deposits

Exercise



FISIM
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FISIM 5

Example
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FISIM 6

Example
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FISIM L to S.11= (      - ) * Stock L= 2 % * 3000 € = 60 €

FISIM D to S.11= 
(  rd - rr) * Stock D= 
1 % * 600 € = 6 €

FISIM D to S.14= 
(   rd - rr) * Stock D= 
1 % * 2400 € = 24 €



Eurostat

Example
Solution to the example above:

FISIML = 60 € to non-financial enterprise (S11)

FISIMD = 24 € to households (S14)

FISIMD = 6 €  to non-financial enterprise (S11)
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